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Related Questions:
e
01. 2 = I — [JU’19-20)
(a) T (b) ST (c) fba (d) rAIfeE 1

STYE: (a); z’;sﬁ =5 ;YT |

02. afq A s B 4 =€ 9641 ¥ @A P(A) = 0.4, P(B) = 0.5, @ P(A' N B) 93 919 ¥© (941, A', A @9«
TS 9oA1)? [SUST?19-20]
(a) 0.2 (b) 0.1 (c) 0.3 (d) 0.7 (e) 1
Ts: (c); P(A’ N B) = P(A') x P(B) [ A 8 B =i4iA]
={1-P(A)} x P(B) = (1 —0.4) X 0.5 =0.3

03. 3w A = {1,2,3,4} 9= B = {6,7,8} TN T 1@ CIORACE T IC1? [Ans: d][JU’18-19]
(2) BB (b) 7T GG (c) 1% B (d) Fe=w 75
04. U= {1,2,3,4,5,6,7,8,9}, A={2,3,4,5} 9 B={468}=, %@ (AUB) =?  [JU’18-19]
(2) {1,2,3,5,7,9} (b) {1,6,7,8,9} (c) {2,3,4,5,6,8} (d) {1,7,9}
ste: (d); AU B = {2,3,4,5,6,8}; (AUB) =U—(AUB) ={1,7,9)
05. (2x+7y,2) 9k (2,x — 2y) TG 720 H A (X, y) 9% A 7 [JU’17-18]
(2) (3/5,2/5) (b) (6/5,—2/5) (©) 3/4,2/5) (d) (3/5,—2/5)
S (b); 2X +y = 23X — 2y = 2 -'-x=§:y= —E
06. log,0 47 7FFS? [Ans: b][IJnU’13-14]
(2) 0 (b) S () 0.5 (d) 1

S (b); 0 ¥ 7T logarithm SEISsITEe |

AP x,acR 92 a > 0 W& x| <a=—a<x<a
Example: |7 — 3x| < 5 SPTolfo FAEE F1

SR —5 < 7 —3x < 5= —12S -3 S -22 —4<-x<—Z=4<x<? (Ans)
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Related Questions:

I A |x — 1| = 1 TS TN G0 @ HG? [GST’20-21]
(a) [~1,1] (b) (0, —1]U[L,0)  V(c) (—o0,0] U [2,0)  (d) [0,2]

FAE: (c); |x — 1 _1=—i—|£1=>—1-=:x+51

-1 —, <1

=>x-1<-1, x—12>1

=x=<0, xX=2
& Y (6 = (—oo, 0] U [2,0)
x + 1| < |x — 1] 99 ATqIY=- [RU’20-21]
(@)x =0 b)x<1 €)x<0 d-1<x<1

AN (), |x+ 1 < |x=-1|=2x+1<+(x-1)

(HfFE x+1<x—1=21< -1, 9 5T

O x+1<s—=x+1=22x<0=2x<0

AT AR |x + 2| < |4x + 1|-97 AR GIo (@072 [RU°20-21]
@ (-2 =]V (G @) ®(-=-F)u[=) @ (-=-F)u(5 =)@ (-33)

A (c); x+ 2| < [4x+ 1| =2x+2< +(4x+ 1)

(HfiEm=x+2<4x+123x>123x>7

(—)ﬁ'C!I==rx+2<—4x—1=a5x<:—3=:xq'—;:.x=(—m,'—a)u(l m)

| 5 3’ :
||I-16 + 3| +| -1 —4|-3—| -1 - 7|| 9% FS? [CU’20-21]

(a) =7 (b) 11 (c) 7 (d) —11

T (0); |I-16+ 3] +|-1— 4| -3 | - 1-7||= |I-13] +|-5] - 3 -| - 8|
—|1345—3—8]=[7|=7

13:‘_” > 1 qF T ZE- [DU?19-20]
(a) (—m,i)u(l,m) (b)x::-% (c){]-::x-::.'% (d) (U%)UG:%)
W‘:ﬂﬂ:(d);la:_ll‘pl = 3x—1<1=3-1<3x-1<1=0<3x<2=0<x<>

Again,3x—1 # 0 #x#% O-r::x-c:g andx:ﬁ%
~ solution is, (D, 1) U (1 2)

3'3

3
(3x — 2) > (2x — 1) 497 Y GG @FG? [JU’19-20]
(a) (1, ) (b) [1, ) (c) (—o0, ) (d) (3, )
IaE: (a); (Bx—2) > (2x—=1)=23x-2-2x+1>0=2>x—-1>0-x>1
—3 < 2x < 8 O AR = A= 67 [JU’19-20]
(a)5 (b) 4 (c)3 (d) @AIBE =W
syrE: (a); —1,0,1,2,3 & 727 55
X OF @ A &0 |2x + 3| > 7 ey T Few @mie? [RU*19-20]
(A)x < —59 x> 2 b)x<-599gf x> 2
() x < -5l x = 2 (dx< 592 x> 2

s (d); |2x+ 3| >7 =22x+3>7 or,—(2x+3) > 7
=x>2o0h2X+3< -7 =2x>2oum,x<-5.sx<-5orx>2
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16.

17.

18.

[3 3| < 5 ewee s oio- [DU’18-19]

(8)> <x<Z M) -f<x<-2 (@i<x<; @2>x>>

T (), ~3 <3-1<is-i-3<-1cl-3s-lc-t<—2 PE<X< T

|x — 3| < 2 97 I AR Y @07 [JU’18-19]
() -5<x<5 b)-3<x<-2 ()1<x<5 d)1<x<15

W (€;|x—3]<2=2-2<x-3<2=21<x<5

g > 5 PSS S [JU*18-19]

@ (3:3) ® (53) @E3)vG:) @3
W=(c);|2x—3|<-;-=>+%<2x—3<g =:>E<::-:<:§ X # ] xe(? :)UG :)

|2x — 3| = 1 SFTeIts Y G @Rb? [JU’18-19]
(@) (~,1] U [2,0)  (b) (,1) U (2, %) (c) (=o0,1] U (2,%) (d) (=o0,1) U [2,00)
AMYE: (a); |2x—3| =21 ~2x—3=1or,2x—-3<-1
=>x=220rx<1.x€(—x,1]U][2 x)

|x — 5| = 5 3= x 99 TF F97? [CU’18-19]
(2) 10 (b) 0 () 0, -10 (d) 10,0

Sg: (d); [x— 5| =1=2x—5=45=x=10,0

8x + 3 < 3x? A x 97 T ffa o4 [CU’18-19]
@x>3orx<—; (b)x<3 (c)x > 8 (d)-3<x<3

W:(a);8x+3<:3x2=-31{3—Bx—3}0=b(x+%)(x—3)>{]
v X v

—

-1/3 3

byjumprule:x > 3 orx < —1
f(x) = |2x — 6| mﬂmﬁwﬁc:r@ @I TS f(x) > 2X TR? [KU’18-19]

(a)x< 3 (b)x>3 (c)x< 1.5 (d)x > 1.5
SYE: (c); [2x— 6] > 2x = 2x— 6 > 2x = —6 > 091 fieyt

or, —2x+6>2x=2>4x<6 ~x<15

(—x)/0.5 + 2 < 0 XA, X 9T AGT T FAL? [KU’18-19]
— — ] | | — ————

@1 5 O % 1 ©@ 1 o _1} @ % I

SYE: (a); —x < —2X05; x=>21 _; é 1_:

el |5 — 2x| = 4 9 YT G76- [DU’17-18]

@[] ® (-] u ) @[] @ [5:3] v [F)
TqYE: (b); 5 —2x >4 = 2x>—1=:rx-=: 0r—5+2x}4=>2x::-9=>x:>_

|3x — 4| < 2 et x 99 [ 97 [(JU’17-18]
(@)2<x<7/3 (b) —2<x<1 (©)-2<x<-5/3 (d)-3<x<5/3

TAIIT: (S TaT AR); 3x — 4| <2 2 —2<3x—4<2 2<3x <6 »2<x<2
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26.

27.

28,

I MR | 3 — 2x| < 1 TSI FIYYH- [DU’05-06, 07-08,11-12,JnU’10-11,14-15,17-18]
(@1<x<2 b)l<x<2 (C)x<lorx=>2 d1<x<2

T (b); 3 —2x|<1=2-1<3-2x<1=21>2x-3>-1

=—-1+3<2x—34+3<14+3 =22<2x<4 =21<x<?2

a>b aR ¢ < 0 T 57 @A Jfde 2 T [Ans: a&c][RU’17-18]
(a) ac < bc (b)gc:;f | (g)-:_qg (d) ac > bc

X2 + 1] < 10 9 ANIYIF- [DU'16-17]
(a) -3<x<3 (b)—-3<x<3 (c)-3<x<3 (d)-3<x<3

TAHA: (2); [x* +1] <10= -10<x2+1<10=-11<x2<9=x2<9 [+ x2 = 0]
=2x2-9<0=2(x+3)(x—-3)<0=>-3<x<3

—3 <5-—2x < 7 (T °F9 T ora AT AP Dare] 23 [JU'16-17]
@|5—-2x| <7 (b))[3—2x| <5 (€)) |5 —2x| > -3 (d) |3 —2x| > =5
AT (b); @I, 3”—2'—3—-2<5—2x—2-¢f7—2==-—5-c:3—22<5=>|3—2xl€.’.5
X+ aavﬁmn:r mﬁwmmmwﬁﬂ [KU'16-17]
E‘.l: 43 43 43
(3)53"55. (0) 7> 2 (©)z> = (@ 5x > 2
T (b); S+35> 2= = > 2
—7<x< 1@WWWW [DU’15-16,JU'16-17)
(a)|x+3]| <4 (b)) [x+1] <3 (c)|x+ 4| <3 d)|x—4] <1
MM (c); —7<x<-1=2-7+4<x+4<-14+4=2>-3<x+4<3>|x+4|<3
|x — 8] < 4 (T STl SIIT AN FaCeT LA? "~ [InU'16-17]
(a)4 < x <10 (b)4 <x<12 (c)x < 12 (d)x> 4
Y. (b); |[x—8|<4=> —4<x—-8<4=24<x<12
[DU’15-16)
4 1 1 : 4 L
(@)3<x<4 (b)3>x>— () <x<+¢ (d)s<x<:
e () |5 = 2 _1<5_2
TR () [5-=| <12 -1<5-2 <1
2 2 2 ax 1 1
5—§€1ﬁﬂ+1>5=5'3;:’4ﬂ?<1=5}{{3
2 2 1 1 1 1
W,S—E}—1ﬂ§;€6=ﬁ;ﬁ9=}x>5 e <Xx<z
X< %?ﬂ X = -z- (2 AN (absolute value) ST AT T I3- [InU’15-16]

(a) |2x—5] < 4 (b) [5 — 2x| = 4 (©) |5 —2x| < 4 (d) |5 - 2x| <=
TG (b); x <5 = —2x 2 —1=5-2x2 4 - |5——2x|3_4&?1{1:2%::—2};5_9::;5_2};5__4
> foF (uw GifP2 Teq T[]

x € R 97 31 A€ 97, QITA x2 + 6x — 27 > 0 992 3x — x% + 18 > 0 [RU'15-16]
(a)3<x<6 (b)2<x<5 €)3<x<7 di<x<4

MY (2) ; x2+6x—27>0=> (x—3)x+9)>0 T x>3 S x < —9

HRE, 3x—x?+18>0=2x*-3x—-18<0=>(xX—6)(x+3)<0 ~. —3<x<6
WE&?WW%%CGMMW?@TW (xeR:3<x<6)




29,

30.

31.

32.

33.

34.

35.

36.

X G I VA S0 |4x — 3| > 1 SHAOIF FAIHIF- [DU’14-15]
(a) (—o0,2) (b) (1, 0) © (- u o) (@ (-] ulLe)

I (¢); |4x— 3| > 1

(4x—3) THUGF T, 4x—3>1 x> 1

(4x = 3) ¥NGF A, 4x -3 < -1 ~x <3

13x + 2| < 7 QI ANYH FRG? ' [RU'08-09,10-11,11-12,CU’14-15,0U°14-15]

(a)—3<x<§ (b)—%{x-cs (c)-j—-:::xczs (d)%-::xc'a

TAAYH: (2); —7<3x+2<7 =2-9<3x<5 =:—3<:x<:§

[x — 1] < == Feoa A 77 [Ans: a][CU14-15]

@) Ix* 1] < % ®) Ix* —1| < % © 2 -1 <— (d) LR 7

A (a); [x— 1] < == —=<x—-1<== =<x <=2 —<x+1 <=

5 < o<x+l<T e —D<x+1<E s x+1| <%

Al =1l = x—1] x+ 1< S m = = -1 < |

—7 < x < —1 (& T NHF A e fo =7 [DU’04-05,JU°11-12,KU’14-15]

(a) |x +4| <3 (b) [x+ 8| <3 (c)|x—6]<3 (d)|x—8| <3

AAqYE: (a); -7 < x <-1 -

QUE, T2=T=—4 -T+4<x+4<-14+42-3<x+4<3>|x+4|<3

BT TRAI 131“'3 5 TSI FAAYH- [DU’13-14]
X

=:>~E£3:1{£-—i =>--2—£x£—i g 3x+1=0 =>x:t%

5 5 15
| x—1[>2 seetd (Inequality) I (PIR(? [JnU’13-14]
(a)-1>x>3 b)x>3 @®k x<-1(c)-1<x<3 (d)x>3 = x <]
Ty (d); (x-1) 20T, x—1>2 x> 3 x-1)<0TF, (x-1)<-2 <> x<-1 -
4 < x < 10 SIS A oF Q€ A3 T @O JI? [RU’13-14]
(@) |x—-4]|<10 (b) [10—x|<4 () [x=7]|>4 (d)[x—7]<3
Farg: (d); 4 <x<10 Or,4-7<x-7<10-7
Or,-3,x—7<3 Or, x=7|<3
7 < x < 8 T ATTNCT R e 5 202 [KU’13-14)
(a) |x—6|<4 (b)[x-5]<3 (c)[x-2]|<4 d)|x-10|<4
sty (b); 2<x <8 ¥, 2-5<x-5<8-5
q-3<x-5<3 9, [x-5(|<3

i o = e ) '*: ' R e TR g
Uaeage. | T
gt 5 : B 2 S L



01.

02.

01.

02.

03.

R O n RS Ffear w1 B sy | s1qfis 9% m AT ©IFT 8 n AT 2fefmem fa g va
o7 A0S Py CTRT C1T 3T IR TS PR G WoAG 15T T4 T 1| 92 3% ofem ¢ Safmme
OIS T W S I Vel 2107 91 7, O0T SIS @ Safram (G IO T WIHB AT [KU’13-14]

() (mn)/w (b) (m/n) w (c) (m-n) (d) (m-+n)
YE: (d); m + n. X=w+m;y=w+nam+n<w

Written

IREFIRUT (x — 1) (X + 2) > 0 TSR TR G5 Felr a3 [RU*19-20]

e 28

~MefrsR x < =2 orx> 1

IR AR |1 — 2x| < 1 ST ANNE: &6 ffr g [RU’19-20]
TER: [1—-2% <1 =2 -1<1-2x<1=2-2<-2x<0=22>2x>0

=21>2x20 =20<x<1

& IAYE: 6 = [0,1]

Question Type-03: T 271 TNHE 7=
B AT K

(1) 7T xeR 99 &7 |x| = x

(ii) a,beR YT T |ab| = |a||b]

(ii1) a, beR @A & |a + b| < |a] + |b|

Related Questions:

IMa,b,cE RS (a+b)+c=a+ (b+c) @IS @A ST TSI?  [Ans: b][JU19-20]
(a) R T (b) e fafs (c) %+ Ry (d) @S 7

S={x€R:x <1} == S a7 «Ifiw C&A @FFDG? [Ans: a][JU’17-18]
(a) 1 (b) 0 (©) -1 (d) >

a,b, € R 99 & @0 {6 47 [RU'15-16]
(a) a] + [b] = |a + b] (b) |ab| = |a||b]

(©)|la=c|+|c—Db| > |a—D] (d) la] = Ib] < ]a—b|

TAAYA: (c & d); FOATF, [a—c| + [c—b| = |a—b| @Ik |a|] — |b] < |[a—D|

N e | T

il

-—



M S < R W3R G0 BT AT u AUTE @F T xeS G TV x < uZy, O u 3 S 4T GF {0 TEANT W3
S (& BRI o1 2 | BRI GIoT THow ANICE 1T I 2 |

Example: A = {x:x < 20, xeN} 93 Jfery F&?

T QA x G TN 20 7R 20 GF (26 THGE @RI w4, x 97 T 20 97 6 1, F478 TAR T
11 o2 Wit TFAR G|

> &A@ L6 &AW 20 |

Related Questions:
01. R T GF%TATH S = {~:n € N} 97 Jzov fFapim 777 (GST 20-21]

(a) —1 V(b) 0 (c) 1 (d) oo

S ) T A = 0

02. s={x€R:—1<x< 3} G0 s 97 FTHON ST F(0? [Agri. Guccho’19-20]
(2) 0 (b)3 (€)5 (d) =5
AR (b); s = (x E R: =1 < x < 3}
GTOE s 97 SHFTIT 3 A1 3 O IG Q@ (T AR | -~ Faoq SHAT 3

03. @ ST o0 {x: 5%2 — 16x + 3 < 0} 47 wfY SO (FHD? [BAU’18-19]
(a) —5 (b) —3 (c) 3 (d)5
ST () (x— 3)(5x— 1) S0 X542 = -<x <3

04. % A>B,C<B WA <D, 9« ea G 7957? [Ans: a,b][RU'16-17]
(a)C<B <D (b)C<B<A ©)D>C>A (d)A>C>D

05. Tff a+b = -Gl a R b IRET TRAE T 7 * W NS T R, O 10%2=2 [DU’14-15)
(2) 5/3 (b) 5/2 ©) 5 (d) 2

ab 10x2 20 5
L] [ ] = — -'. * = —_— = —
W*ﬂ;{- (ﬂ), a * b a+b 10 = 2 1042 12 3

Written
01. T 3@ R G BT (subset) S = {x:3x* — 7x + 2 < 0} =¥, O supS T IV F9? [InU’18-19]

g 3x2 — 7x+2<0 =23x2—6x—x+2<0 =3x(x—-2)-1x-2)<0

>x—-2)3Bx—-1)<0 .-.-3{){{2 ~supS =2 (Ans.)




